Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	3	2		Date Regi	ster	ills	31	01/2022
Company Name:	MRE	57		Site:			BRe	5V
Name of Contractor	Radt		visl	000				
Nature of work				20 L	10			
Work done	From Da	t atro	12	121		Date	25	12/21
Sl. Villa/Flat/block no	D. Qty		Rate	-	Units	Amo		Contractors
No.	1				0.1.1	255		bill no
1. South Side grow		552.00		00	371		20.00	-
2. Murran fillin	12 May 42	92.00	3.		St		67.50	
3. takomo plan		0.00		· D.Q	NO'S		00	
4. Pit Excavat	300 21	00.0	-	'DD	130,2		0.00	
5. Vadilia plan	H 25	0.00		0.00	Mb		0.00	
6. Pit Excavat	on 25	00.0		150	NOS		5.00	
7. Ciesalpanio	2 25	.00	50.	DO	NO'S	20	0.00	
8. Pit Excavat		.00	QD.	00	1203	20	0.00	
9. nivium plan	H 28	.00	$\partial \mathcal{D}$.	00	NO'S	56	0.00	-
10. Pity Excavati	00 2	8.00	20.	00	Nos		0.00	
	otal:						32-50	
Bill required	YES	□ NO.		GST	bill requi	red		NO.
Measurement &	'√Requir	ed			urement &	&	Enclos	
estimate sheet:	□ Not rec	quired			ate sheet:		□ Not en	closed
PO/WO no.				PO/W	O date:			
Remarks:								
				à				
						1.		(D
Approved by Project Ma	nager	Approv	ved by	/ Desig	n Team	+	roved by N	A.D.
Date: 22		Date:				Date	:	
Sign:		Sign:				Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Company Name: M							
	MRGV				Approved by		
	BRGV						
Work Description : pl	plantation work.						
	Sobhanbabu.						
me:	Radha Krishna						
	31.01.2022						1
S NO.	Item Head	Item Description	Quantity	Onits	Rate	Amount	Grand Lotal
	Sheded arass	Templefrant side					
-		South sidegrass laying	4225.00	sft	9.00	25350.00	
		Murram filling work	4225.00	sft	3.50	14787.50	
	drow acitatacla	takomo plants	20.00	No's	20.00	400.00	
7	Dallation Wolf.	nite excavation	20.00	No's	20.00	400.00	
		Standard Ciliber	250.00	s,oN	20.00	5000.00	
		Vadilla Dialits	00.030	0.014	2 50	875.00	
		pits excavation	00.062	NON	00.00	000	
		ciesalpania	25.00	S,oN	20.00	200.00	
		pits excavation	25.00	No's	20.00	200:00	
		nirium plants	28.00	No's	20.00	560.00	
		pits excavation	28.00	No's	20.00	560.00	
						48932.50	
						Total	48932.50
		Same Anna think has been been been been been been been bee	A could the table from	Had			

MEASUREMENT SHEET	TEET.								
Company Name:	MRGV						Approved by		
Project :	BRGV								
Work Description :	plantation work.								
Prepared By:	Sobhanbabu.								
Contractor Name:	Radha Krishna								
Date:	31.01.2022								
			Ą	В	O	۵	E=AXBXCXD	ıL	G=Sum of E
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
-	Sheded grass	Templefrant side							
		South sidegrass laying	169.00	25.00	1.00	1.00	4225.00	sft	
		Murram filling work	169.00	25.00	1.00	1.00	4225.00	sft	
2	plantation work.	takomo plants	35.00	1.00	1.00	1.00	35.00	No's	
		pits excavation	35.00	1.00	1.00	1.00	35.00	No's	
		vadilia plants	250.00	1.00	1.00	1.00	250.00	No's	
		pits excavation	250.00	1.00	1.00	1.00	250.00	No's	
		ciesalpania	35.00	10.00	1.00	1.00	35.00	No's	
		pits excavation	35.00	1.00	1.00	1.00	35.00	No's	
		nirium plants	35.00	1.00	1.00	1.00	35.00	No's	
		pits excavation	35.00	1.00	1.00	1.00	35.00	No's	

Bill for Labour charges Radha Krishna

Hafeespet

Date:31-01-2022

In favor of:

Modi Reality genome valley

Project / Site:

Blommdale Residency genome Valley

Location

Murharpally

Type of Work:

Plantation work

Towards

: Labour charges

S No.	Description	Amount
1.	Brief description of work done: Shaded grass plantation	
	Work.	Rs 19573/-
	Total amount =48932.50/-	
	from date: 15-12-2021 to 25-12-2021	

Amount in words: Nighteen thousand five hundred and seventy three rupees only.

Allowance for Consumable

Radha Krishna

Hafeespet

Date:31-01-2022

In favor of:

Modi Reality genome valley

Project / Site:

Blommdale Residency genome Valley

Location

Murharpally

Type of Work:

Plantation work

Towards

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Shaded grass plantation	
	Work.	Rs 9786.5/-
	Total amount =48932.50/-	
	from date: 15-12-2021 to 25-12-2021	

Amount in words: Nine thousand seven hundred and eighty six rupees only.

Sign:

Bill for Equipment Allowance

Radha Krishna

Hafeespet

Date:31-01-2022

In favor of:

Modi Reality genome valley

Project / Site:

Blommdale Residency genome Valley

Location

Murharpally

Type of Work:

Plantation work

Towards

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Shaded grass plantation	7/
	Work.	Rs 19573/-
	Total amount =48932.50/-	
	from date: 15-12-2021 to 25-12-2021	

Amount in words: Nighteen thousand five hundred and seventy three rupees only.